
Pos. Benennung

Typ 601 (alt)
8913131

Typ 601.1
8917601

Typ 601.2
8916601

Typ 601.3
8915601

1 Stegwand fest, kpl. 8915604.001 8915604.001 8915401.001 8914976.001
2 Stegwand verstellbar, kpl. 8915605.001 8915605.001 8915402.001 8914966.001
3 Profil 8913065.001 8913065.001 8913065.001 8913065.001
4 Standardriegel 8913119.001 8913119.001 8913119.001 8913119.001
5 Wenderiegel 8913014.001 8913014.001 8913014.001 8913014.001
6 Transportsicherung 2 8913152.001 8913152.001 8913152.001 8913152.001
7 Transportsicherung 1 8913151.001 8913151.001 8913151.001 8913151.001
8
9 Positionierstreifen 8913115.001 8913115.001 8913115.001 8913115.001

10 Grundplatte, kpl. 8913821.001 8913821.001 8913821.001 8915359.001
11
12
13
14
15 Stegwandhalter 8915286.001 8915286.001 8915286.001 8915393.001
16
17 Grundplatte, kpl. 8913821.001 8913821.001 8913821.001 8915359.001
18 Stapelnoppen 8913438.001 8913438.001 8913438.001 8913438.001
19
20
21
22
23
24
25
26
27
28

Ersatzteile Leiterplattenmagazine 601 
Ausgabe 02/2016

Artikel-Nummer

8
29
30
31
32
33
34 Schraube DIN923-M3x 2 5902339.001 5902339.001 5902339.001 5902339.001
35 Schraube DIN7985-M 5x16 5902350.001 5902350.001 5902350.001 5902350.001
36
37
38
39
40
41
42 Passscheibe DIN988- 4x8x1,0 5903089.001 5903089.001 5903089.001 5903089.001
43
44
45
46
47
48
49 Montageanleitung 9008259.001 9008259.001 9008259.001 9008259.001
50
51 Schraube DIN912-M5x16 5902038.001 5902038.001 5902038.001 5902038.001
52 Scheibe DIN9021-5,3 5903037.001 5903037.001 5903037.001 5903037.001
53 Vierkantmutter DIN 562-M5 5902549.001 5902549.001 5902549.001 5902549.001
54
55

  cab Produkttechnik www.cab.de
  GmbH Co.KG 
  Postfach 1904
  Wilhelm-Schickard-Str. 14

D-76007 Karlsruhe
D-76131 Karlsruhe

info@cab.de
Telefon +49 721 6626-0

Telefax +49 721 6626-249



PCB-Magazine Series: 601 - 603 (alt) 
Series: 601.1-603.1 
Series: 601.2-603.2



B

A

C

F

G

K

I

H

E

D

42
34

42
34

5

5

42
34

42
34

4

4

3

3

21

42
34

42
34

4

9

42
34

4

6 7

9

PCB-Magazine Series: 601.3-603.3

42
34



PCB-Magazine Series:       601 - 603 (alt) 
Series: 601.1-603.1 
Series: 601.2-603.2 
Series: 601.3-603.3
 

15

moser
Linien

moser
Linien

moser
Linien


	Stegw 601-603
	Stegw 601_3-603_3
	Grundpl 601-603
	ETL_601_dt 0810



